SRR P fELIR B - MiniThorm R T8 /126 A HAT AL,
lalbomn| pressgiriimyd

AL

i|N s g

Pt100 HiPH H 4 AL IR EE L.
AJ ik 2 Ml i 7 0

Bk
P67

HAER

IR Svides

B M12 WR SR, By
&2 IP67 154 DIN EN 60529

C PUANSEAR, WIBLLIRET, ANER
F1EF No.1.4305, P67

1B BRI o

. RYPEE 6 mm
Al EEN RS 3 4mm
KLk AR

M4 A PRk, iRt RS EE)
SR HM R EER R, g
BHIEP
. P2 PEEK #i AR TR %
4
2 HRE
1XPt100, %A A 4, 54 DIN
EN 60751, 4 #£ii]i%4:

B R

W )T BRI R A B T P L 1 B P T

KBt

R

PRI s v

JEHFH 1XPt100, 3 £, A 2%
EH T &M AT R FE R 7
PAE, 45T 4 EHEDG Rk

M12 4 Sk 20 AE R B A AR IE %
CIE S %o
Bt 1l 2G Eex ia IIC T4/T6

TRARZY R BE I P AR P TR M, R AR AR AT
(R o P BHL A B A 0 S R AR A T AR A 11, 7T AR IR 2%
R HE 5 - T HEHE AT, MiniTherm 766 il
il 2 AR AL ST AR R HE )z .

TAREE
-50...+200°C

pUN LT 2

. WE4ERE G1/2 B DIN 3852

HERRLL, SR N4 R ek
KEHME: M12 20Nm

G1/2 50Nm

. DIN11851, 7 i¢ R L}

. REDEEST A DIN 32676

. REBERRT A 1SO 2852

. Tri Clamp

. Varivent

ANEFER !

Hret fEdEs 7 e R

THEREA

K 16bar

14k : Varivent D68 Code A1512
#5 K 10bar

R
PRV 54N No. 1.4404

REFRE

KIEAREE  Ra<0.8um
e <1.6um
A EDSR IO

Data Sheet: T4-015 rev017

[ BLE [A]

H4E DIN EN 60751, 92363 f2 N
K R AR IEZRD

. HfE 26 MIfRYEHE: T90=5.5s

. Ui AR AR @A B : T90=4.5s

e NS

BVS 04 ATEX E 144 X

| 2G Eex ia 1IC T4/T6

Ui < 30V

Pi < 200 mwW

HAb &A% %K 2 M EN
60079

AL

AT RIE 241 Pt 100 A5 % 5%

a)  H T A SR T 22 28 1 AR 1%
o

b) AFik#s, A5 PA2430, HTH
ek M12

DL 2 T4

LED 3 En

Al YmFE LED M35 R, H T840
& (@60 mm)

DA B M6-031



JF

design with

connection head field housing,

ircul screw cap, 115
circular connector  transmitter mat. stainless steel , IP 67
M12x1 4-pole circular connector
circular connector @60 M12x1
M12x1 4-pole
‘Uij I 11 I — L
|
o~ o
n 19
kecefeece cable gland M12x1
®18 f. cable 3-6,5
®18 cocspes
oo _ [
| 37
Process connection cable gland M16x1,5
diagramed with circular connector M12x1 f. cable 84,5-10
w o
2 o T & n @
N = \ | < | o —
| i “ 7
M12x15 m

- . ]

S| 61/28 = A
— G1A -
=) G128 | | _ =

AN I > N ? %
dily diny [ d
\ /\ X \ /\ X \ X \_ /\ X

G1/2B DIN 3852

M12x1,5 dead-zone free

(conical taper of metal)

m i
AR,
x 7
a——r]
|’/.FH\”|
ST/ x

tapered coupling with
groove union nut DIN 11851
DN25 G=Rd.52x1/6
DMN32 G=Rd.58x1/8

G1/2B dead-zone free
(conical taper of metal)

G1B dead-zone free
(conical taper of metal)

9y

= = == > = I I =
i .
=
AN AN
N ﬂ/)\ X N q T x

clamp connection
Tri-Clamp 1%/1%4"
SO 2852 DN25/38
DIN 32676 DN25/40

Varivent connection

=31 for Varivent-case DN10 and DN15
D=50 for Varivent-case DM25 and 1"
D=68 for Varivent-case

DN 40-125 und 1 1/2"...6"

Data Sheet: T4-015

M



- % 1% Loz
edhe < 5
[T g °
= g g
~
m
o o
Ty PHOO —=_| ~ | Ptoo — ||
G1/2B @ 4
@6 26
G1/2B dead-zone free
(conical taper) design of stem X
design flush mounted
temperature
Pt100 temperature sensor decouplement
stainless steel by plastic
design flush mounted Y
pin connection pin connection
transducer transmitter

black blue
4

10...35 VDC oV

o

1xPt100 two wire circuitry 4...20 mA

pin connection
transducer

Pt100 2 x 3-Leiter

Data Sheet: T4-015



— R BIRIH R S R -

R R A e SR T B AT A 2 A AT GA270
DT = :
A, B B 22 I hnade T 1
G1/2B A1010
G1/2B, #iIZL, &E&EEk A1011
BRI 4z G1A, #igs, SRxteEmik A1015
A2 NPT, #EIRZr, GEx&Eik A1022
M12x15, &ENEEEL A1031
e MR R .DN 25 A1213
SRS DIN 11851 .DN 32 A1214
47X DIN 32676 |.DN 25/40, @50.5mm A1413
430 1SO 2852 |.DN 25/38 (1"/1 1/2"), & 50.5mm A1423
Tri Clamp A1"/11/2", @50.5mm A1433
ASME BPE 1/2° 3/4 , & 25mm A1499
D=31, Varivent 5¢{& DN10 #1 DN15 A1510
Varivent 4% |D=50, Varivent % f& DN25 Fil DN1” A1511
D=68, Varivent 55k DN40...125 11 1/2”...6” |A1512
e C1000
e o L.
.6mm, 4i/hEiN @ 4mm C4...
.9mm C9...
. 15mm 015
. 25mm 025
. 30mm 030
. 35mm 035
FHAKSE Ur | 50mm 050
. 100mm 100
. 150mm 150
. 200mm 200
HeREEREE GEmm S5 B 999
Mg STREERE: ANEEHA No. 1.44335, P'EH: ANE544 No. 1.4404 Gil1
_1XPt100 3 £k, AxdE N2
R _1XPt100 4 £ N3
. 2XPt100 2 £ N4
. 2XPt100 3 £l N5
CEEREEL M12 (44D, IP67, HRd T150
. PUANEAR ik [RERBE T H% @3-65 T47
ARG AT 45 @4.5-10 T47.40
N T H28 @ 3-6.5 T47.21
i AL M12 X1 [T47.51

BB TR ({RFE TR R4 HY )

.Ex 11 1G Ex ia IIC T6/T5/T4 S71
Gipgyst  EX1I2G Ex ib 11IC T6/T5/T4 S72
.Ex 111D Ex iaD 20 T89°C S73
.Ex 112D Ex ibD 21 T129°C S74
sk o ek e, SRR Ol PA2251) 71
T EREL M12 JER PA2430) 752

|GA2700 |A1011 |C1050 |G11 |T47

1. bk, WHIER T4-082. 2. H&2& GL12B #E & BN & EiERE. 3. XM IR WL W T6.

Data Sheet: T4-015




